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MATHEMATICS

DPP  No.  60
Total Marks : 34

Max. Time : 39 min.

Type of Questions M.M., Min.

Single choice Objective (no negative marking) Q.1 (3 marks, 3 min.) [3, 3]

Subjective Questions (no negative marking) Q.2 to Q.6 (4 marks, 5 min.) [20, 25]

Match the Following    (no negative marking) Q.7 (8 marks, 8 min.) [8, 8]

Assertion and Reason  (no negative marking) Q.8 (3 marks, 3 min.) [3, 3]
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2. In a library a set of 96 books of mathematics, 240 books of physics and 336 books of chemistry. If

stacks of same subject books have to be formed, find the minimum number of stacks required for the

maths, physics, chemistry stacks (given each stacks as same number books).

3. Find the shortest distance and the equation of the line of shortest distance between the following

pairs of lines.

1

2x 
 = 

1

3y 
,  z = 4 and  

1

1x 
 = 

1

y2 
, z = 3

4. Evaluate :

(i) 
e e

e e

x

x x

3x 5

   dx (ii)  







 dx

x

1
x 2/3

(iii)  


dx

1x

1x
2

6
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7. Match the column

Column – I Column – II

(A) The plane x – 2y + 7z + 21 = 0 contains the line (p)
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8. Statement-1 : The three planes x + ay + (b + c) z + d = 0, x + by + (c + a) z + d = 0 and

x + cy + (a + b) z + d = 0 have a line in common.
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(A) Statement-1 is correct and statement-2 is correct and statement-2 is correct explanation of statement-1

(B) Statement-1 and statement-2 both are correct but statement-2 is not correct explanation of statement-1

(C) Statement-1 is false but statement-2 is true

(D) Statement-1 is true but statement-2 is false



1. (C) 2. x = 2, 5, 7 3. PQ = 1, x = 1, y = 2
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7. (A)  (q), (B)  (p), (C)  (s), (D)  (r)

8. (B)


